1041 (K10a35)

Linearized knot diagam

Solving Sequence

278*>1*>7*>9—>3—>6—>4—>5—>109>C4 Cg
A knot diagra c1 cr G C2 Co c3 Cs ~ Cio ’

Ideals for irreducible component#ﬂ)f Xpar

I = (w® +u® + .. —2u—1)

* 1 irreducible components of dim¢ = 0, with total 35 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u4+ut+... —2u—1)

(i) Arc colorings
= )
-
o=
-

o= ()
o=
e
(
(

w4 3u? + 4010 o — 208 —2ut + 1
w4+ Ayt 4 812 4 8y l0 4 448

u25+6u23+~~-+3u5—u>

ayq =
as = u27+7u25+._.+u3+u

w4 3ut? + 400 4+ — 208 —2ut 4+ 1
ajg = —’LL14 _ 4U12 _ 7u10 _ GUS _ 2U6 + 7.L2

(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u3* — 4433 — 36u3? — 320! — 156130 — 128029 — 412128 — 320027 — 712126 — 548u25 —
792u?* — 652u?3 — 472u%? — 508u?! + 56120 — 1561 + 380u'® + 18417 4 3286 + 304u'® +
108u'* +176u'® —36u'? —8ult —56u'0 —88u” —44ud —64u" — 16w’ —12u® —4u3 +4u? +8u+2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cr u¥ — Ut —2u+ 1
C2,Ce w4 4 10u+ 1
€3, Cs5 u®® — 11 - —2u+ 1
C4,Cy w4 4 2ut1
c8 u®® +19u3 4 —2u— 1
c10 u — 5utt . — 5du + 13




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,cr yP 4193 4 — 2y —1
C2,Ce Y3 =293 ... — 50y — 1
€3,Cs yP 42yt =22y — 1
C4, Co PP 11yt e — 2y — 1
cs yP 5 2y — 1
c10 ¥ — 99> + - + 966y — 169




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = —0.475306 4 0.9171071

—1.61985 — 2.078271

—4.18960 + 3.403331

u = —0.475306 — 0.9171071

—1.61985 + 2.078271

—4.18960 — 3.403331

u = 0.528952 4 0.892872]

—0.81872 + 7.334851

—2.03591 — 8.714251

u= 0.528952 — 0.8928721

—0.81872 — 7.334851

—2.03591 + 8.714251

u = —0.030366 + 1.0496801

—4.65111 — 2.791781

—9.43445 + 3.128491

u = —0.030366 — 1.0496801

—4.65111 4 2.791781

—9.43445 — 3.128491

u= 0.511218 + 0.7653981

3.43859 4 2.098171

4.61461 — 4.201561

u= 0.511218 — 0.7653981

3.43859 — 2.098171

4.61461 + 4.201561

u = —0.817305 4 0.1250281

—4.48418 + 7.522111

—3.62607 — 5.451891

u = —0.817305 — 0.1250281

—4.48418 — 7.522111

—3.62607 + 5.451891

u = 0.812555 4 0.0992381

—5.26005 — 1.678571

—5.17734 + 0.366741

u = 0.812555 — 0.0992381

—5.26005 + 1.678571

—5.17734 — 0.366741

u = —0.274169 + 0.7542231

—0.387744 — 1.2181401

—4.43214 + 5.437371

u = —0.274169 — 0.7542231

—0.387744 4 1.2181401

—4.43214 — 5.437371

u = 0.541549 + 0.5821681

0.04226 — 3.004401

0.20241 + 2.529891

u = 0.541549 — 0.5821681

0.04226 + 3.004401

0.20241 — 2.529891

u = —0.407102 + 1.1442301

—2.27261 — 1.140781

—3.06038 — 0.352231

u = —0.407102 — 1.1442301

—2.27261 + 1.140781

—3.06038 + 0.352231

u = —0.491471 4 1.1625201

—1.65334 — 7.024731

—1.60158 + 6.939541

u = —0.491471 — 1.1625201

—1.65334 + 7.024731

—1.60158 — 6.939541

u= 0453184 4 1.1792101

—5.12537 + 4.249961

—8.86458 — 3.773531

u= 0453184 — 1.1792101

—5.12537 — 4.249961

—8.86458 + 3.773531

u = —0.386425 4 1.2211601

—8.54235 4+ 3.425941

—8.10972 — 2.228171

u = —0.386425 — 1.2211607

—8.54235 — 3.425941

—8.10972 4 2.228171

u = —0.703066 + 0.1477671

1.26318 + 2.512141

2.03969 — 3.878521

u = —0.703066 — 0.1477671

1.26318 — 2.512141

2.03969 + 3.878521

u = 0.402291 4 1.2202401

—9.20933 + 2.506961

—9.26110 — 2.949341

= 0.402291 — 1.2202407

—9.20933 — 2.506961

—9.26110 + 2.949341

u= 0.714433

—1.80251

—5.77680

u = 0.498606 4 1.2045501

—8.52390 + 6.460461

—8.19651 — 3.554601




Solutions to I3

vV—1(vol +v/=1CS8)

Cusp shape

0.498606 — 1.2045507

—8.52390 — 6.460461

—8.19651 + 3.554601

= —0.509525 + 1.2016901

—7.6692 — 12.37661

—6.59656 + 8.490081

—0.509525 — 1.2016901

—7.6692 + 12.37661

—6.59656 — 8.490081

= —0.510838 + 0.4468041

—0.37526 — 1.904761

—0.38240 + 3.263121

gle|e|e|e
I

= —0.510838 — 0.4468041

—0.37526 + 1.904761

—0.38240 — 3.263121




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1, C7 uP — - 2utl
C2, Cg w4 4100+ 1
3, Cs w11+ = 2u+1
4, Co u ot 4 2u 1
8 u¥® 1903 + - —2u—1
c10 u®® — 5ut - — Bdu + 13




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, Cr P19 -2y 1
Ca, Cg y35 — 2993 + ... — 50y — 1
Cs, 5 Y 2myt e 22y — 1
C4, Cy P 11y =2y —1
cs v 5yt 2y — 1
c10 Y30 — 93 + ...+ 966y — 169




